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PART ONE MODEL TESTS

MODEL TEST ONE

Part 1 Listening Colnprehenslon (20 minutes)
Section A .
Directions: In this section, you will hear 10 short conversations. At
the end of each conversation, a question will be asked about what was
said. Both the conversation and the question will be spoken only once.
After each question there will be a pause. During the pause, you must
read the four choices marked A),B),C)and D) ,and decide which is the
best answer. Then mark the corresponding letter on the Answer Sheet
with a single line through the centre.
Ezample;
You will hear; -
You will read A)At the office. B)In the waiting room.

C)At the airport.  D)In a restaurant.

From the conversation we know that the two were talking about
some work they had to finish in the evening. This is most likel)" to
have 1aken place at the office. Therefore,A)“At the office” is the best
answer. You should choase A) on the Answer Sheet ahd mark it with
a single line through the centre.

‘ : Sample Answer-A] [B][C][D]
1.A)At home. ’ B)At a warehouse. -

C)At a post office. " D)At a bookstore.
2.A)Work. : B)Rain. -
C)Temperature. : D)Cold.

L3 B0



3.A)She wﬂl flunk. ... B)She will get naught.
C)She will get high score.  D)She will pass sway.
4.A)The plane will stop at a certain airport halfway.
* B)The man will take the 8 s 45 flight.
C)The plane will.not land at Chicago airport .
D)The man will leave Chicago as soon as he gets there.
5.A)The woman is a librarian.
B)The woman ik very busy.
C)The man is familiar with the library.

D)The man has come to borrow. some novels.

6.A)She is a saleswoman. - B)She works in a hotel.
* C)She is a merchant. D)She is a bank clerk.
7. A)December 22. .- - B)December 23.
. C)December 24. ... : D)December 25.
8.A)A dish. = ¢ B)A job.

C)Spare—,time school. D)English study.
9.A)A sweater. B)A blouse.

O)A skirt. - D)A coat.

10. A)He feels Mr Wang did a good thing. .

B)He doesn’t think Mr Wang should. move.

C)He thinks it is better to invest later.

D)He thinks it is unwise to buy stocks.
Section B Standard Dictation
Directions;In this section,you will hear TWO passages seach about 80
words. Each passage will be read three times. First you will hear the
passage from the beginning to the end just to get a general idea of it.
Then, in the second reading, you will hear a signal indicating the, be-
ginning of a pause after each sentence or part of a sentence. During the
pause, you must write down what you have just heard in the corre-

sponding space on the Answer. Sheet. There is also a different signal
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indicating the end of the pause. When you hear this signal, you must
get ready for what comes next from the recording. After you have
written the whole passage, you can check what you have written when

the passage is read to you once again without the pauses.

Passage One ., |

Passage Two

Part I Vocabulary and Structure (20 minutes) A

Directions : There are 30 incomplete sentences in this part. For each
sentence there are four choices marked A),B),C)and D). Choose the
ONE answer thar best completes the sentence. Then mark the corre-
sponding letter on the A ;{/ Sheet with a ‘single line through the

centre. a2 “‘i
11.Don beso ___. You will be deceived otherwise.
( Adereditable Bcredible
C)credq!ous Sk D)credit
1.2. In time of power ___ we used to stay in the open air.

-~ *3e
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A)shortage : "é)failpre
C)}(bsence D)pguse / /// ./"' g
13. He declared that he was not QL his wife’s debts. £/ #2/* it {,
Adliable to liable for .
C)liable on ‘ ‘D)liable with
14. We/wanted to know whether the terms had been .

. agreed on B)agreed with
v C)agreed to D)agreed about '
15.GSing ':}:‘ere by air is both fast and comfortable,but I can not pay
- for the ____.
:\'/? A)travel - B)journey
C)v_oyage D)fly h

16- We are ignorant of the degree his experiments have supplied
forceful evidence for his idea.
A)at which B)in that

.\c;(o which D)for which

17. After ten years’ absence he came back only to find the city was not
it used to be.
A)which - Q)fﬁhat C)then D)such -

18. The monument was constructed in honor of the scientist who was

believed ____ lightning arre,stot-,&_.@ % B

A)to/have invented ~ B)to have been invented -
C)td invent : D)having been invented
19. Ever since the family moved to the suburbs last year.we ____ bet-
te;;,yenvirohmem. N - S
A)could have enjoyed ' B)had enjoyed
C)have been enjoying. .. D)are enjoying-

20. It '/was essential that all. the necessary documents _ to the
president"s office before the end of this month.

A)be handed in - B)must be handed in -
. 4 .
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‘C)skould haridin = - ‘DYhad Been handed in

-Th¢y are ____in a general understanding of present situation.
Macking B)needing
C)short D)good
22.Get it across in that that questio /is ___of being misunderstood.
A)apt . B)able
C)cotxgpg%em-\-// A Jcapable
23.He was so __ in reading the novel that he knew nothing about

what was going on about him.
A)concentrated B)focussed
C)absorbed * D)bent '
24.1t’ hard to ____ with the kn;v;?ge that he is a failure.
ive P

D)get on -

B)ecpnomical
C)economics D) onomy .

. What time is it by your watch?Mine 3 minutes too fast.

A)obtains )gains
Clacquires - ‘ Q}g s
27-My uncle presented my child a vglleyball .
Adto play s play with -
C)to play with it D)which to play
28.There are five big rooms except the language lab __ this after-
noof. , ) )
A)¢leaned ‘ B)cleaning -
_C)to be cleane D)having been cleaned
29. His eloguence fnade a deep impression ____ the young visitors.

Adin in Cfer D)to

30.Some metals are better conductors of electricity than others,
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means the former have atoms that contain more free electrons than
thfe latter. . :
that B)this Ot D)which

heproject requires more labour than because it is extremely
p T Ty ~——

31.

ifficult. , .
A% be;en put in B)have been put in
C)being put in D)to be put in
32.Don’t have him for a friend. He is —___a cheater.
AA)anything but B)but for
Corarher than - Dnothing but
33.As a ____president, his views are treated with respect when he is
interviewed .
AdXormer B)late L)formal D)latter
34.1t is required that a president . right now.
Adappointed - B)is appointed
\Cy)e appointed . \D)has been appointed
35.1t%s high time we _____all kinds of pollution.
A)combat : B)combat against
< smbated D)would combat against
36.Hardly ____the helicbpter ____iwhen they began to fire at jt.
A)bad landed B)hss ,landed
C)did,land D)as ,landing

37.A good friend is one who will
A)stand for F
C)stand up to D)stand up with

38.Before the child went to bed, the father asked him to ____all the
toys he had taken out. .

Adput off - ) - B)put up R

you when you are in trouble.

stand by

ngnt away ; D)put out
39.L.ook at the terrible sitwation I am intlf only 1 your advice.
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Adfollow B)would follow

Chad followed D)have followed
40-Rec§ntly we have taken ____ medsures to stop poisonous gases be-
" ing sent into atmosphere. *

A)beneficial B)favorable

Clefective D)valid
Part I Reading Comprehension (35 minutes)
Directions: There are 4 passages in this part.Each passage is followed
by some questions or unfinished statements. For each of them there
are four choices marked A),B),C)and D). You should decide on the
best choice and mark the corresponding letter on the Answer Sheet
with a single line through the centre. o
Passage One ‘
Questions 41 to 45 are based on the following passage:

It was not yet eleven o’clock when a boat crossed the river with a
single passenger who had obtained his transportation at that unusual
hour by promising an extra fare.” While the youth stood on the
landing - place searching in his pockets for money, the ferryman lifted
a lantern, by the aid of which, together with the newly risen moon.

he 1ok a very-accurate survey of the stfanger’s figure. He was a
young man o@ighfeen years, evidently country bred, and now,
as it seemed ._on 'his first visit to town. He was w’e’aring"a rough gray
coat, which m many winters before this
one. The garments under his coar were well constructed of Teather,
and fitred tightly to 4 ;pair'(')f muscular legs; ‘his stockings of blue yarn
(#4) must have been the work of a mother or si\SMd on his head
was 4 three-cornered hat, which in'its better days had perhaps:shel-
tered the grayer head of the lad’s father. In his left hand was a walking

stick, and his equipment was completed by a leather bag not so abun-

dantly stocked as to inconvenience the strohg shouldets ‘ot ‘which it

iy



hung. Brown, curly hair, well - shaped features, bright, cheerful
eyes were nature’s gifts ,and worth all that art could have done for his
adornment. The youth, whose name was Robin, paid the boatman,
and then walked forward into the town with a light step, as if he had
not already traveled more than thirty miles that day. As he walked, he
surveyed his surroundings as eagerly as if he were entering London or
Madrid, instead of the little metropolis of a.New England colony.
41. The boatman was willing to take Robin across the river because
Aﬁle wanted to make more money
B)he saw that Robin was young and strong
C)he was going to row across the river anytime
D)he felt sorry for him because Robin looked poor T
42.The boatman was very certain that ___ .
A)Robin was from an upper —class family
B)Robin’s birth place was in the country
C)Robin was a runaway from his home
* D)Robin’s mother had a pair of nimble (RT5#J) hands
43.The story took place in ___.
. A)a country not mentioned
B)Britain
Cla-eolony of N?w England
D)America -
44.The sentence “--his equipment was completed by a leather bag not
so abundantly stocked as to inconvenience the strong shoulders on.
which it hung” means that ____ . , )
A)his_equipment tore open the bag which was not packed very
‘muCh . R , .
B)his equipment was put in the bag which was so packed as to in-
-terfere with his movement
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LC/)BS equipment tore open the bag which was so packed as to inter-
fere with his movement
D)his equipment was put in the bag which was not packed enocugh
to interfere with his movement
45.Which of the following is NOT true according to the passage?
A) Although Robin covered a long distance he seemed not to be
tired.
B)R6bin wore a pair of knitted stockings and a new hat.
C)The story took place in winter.
D)Robin had good features.
‘Passage Two
Questions 46 to 50 are based on the following passage: o s

The formation:of a new life stage where one did not previously ex-
ist is not in itself revolationary, although the pace of such innovation
has picked up in the whirligig (3% [} ) of twentieth - century. sqcnal
change. Previously, however, these new stages occurred in the earller
years of life. .

For example, childhood as we know it is less than two hunt?red
years old. A decline in infant mortality made it more likely that a child
would survive his or her early years., permitting parents to hecome
more emotionally attached to each of their children. The greater value
placed on children eventually led to restrictions on child labor and laws
to prevent cruelty. to children, as well as 1o the sentimentalizing of
childhood. Compulsory schooling finally specified the years in whic_h
children were t& undergo a period of training for the real world.

Adolescence, a stage berween childhood and adulthood, is a
twentieth - century creation in 1900, only about 13 percent of 14-to
17- year ~olds were in school. That number rose to 50 percent by
1930, 73 percent by 1950, ahd 95 percent by 1965. Enter the teenag-

er.
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Young adulthood is more recent still. Living alone or with a tover
before marriage as a social norm for people in their twenties, for ex-
ample, begins with the baby boomers. Of those Americans martying
for the first time between 1965 and 1974. 11 percent had lived with a
lover, but: 44 percent of those entering their first marriages between
1980 and 1984 had done so. ‘

16. The formation of a new life stage is not in itself revolutionary be-
cause .
A)the pace of the innovation becomes quicker
B)the so - called new life doesn’t appear for the first time
C)human life can’ be compared to ordinary social phenoména *
1t occurs without being perceived )
47.In Paragraph Two-the writer-demonstrares that __ .
A)parents shouldn’t love their children better
B)decline in infant mortality makes children live longer -~
C)children labour usedn’t to be prevailing ' . . ‘ L
D)compulsory schooling is an enemy of child labour - ;
48.1In the last paragraph the writer implies that .
. Adyoung adulthood is tomparatively stable
B)the number of the people is increasing living with a lover before
tr;arriage .
C)all the young people want to be unmarried
D)more than 10 years ago 44% young people gbt married for the
first time . : EE
49. Which of the following is NOT true according to the passage?
A)In 1948 about seven out of ten children went to schoot.
B)The writer takes a positive attitude towards spoiling children.
. C)Teenager stage didn’t occur in the nineteenth century. - R Y
\¥Childhood has the longest history. S

50.What do vou think can be used as the title of the passage?
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A)New Era B)Mew Life Stages 3
C)Twentieth ~ century Social Change
D) Strange Social Phenomena
Passage Three «
Questions 51 to 55 are based on the following passage:

How much pain do animals feel? This is a question which has
caused endless controversy (/). Opponents of big game shooting,
for example, arouse our pity by describing the agonies (7% ) of g bad-
ly wounded beast that has crawled into'a corner to die. In countries
where the fox, the hare and the deer are hunted, animal lovers paint
harrowing (4 A% A#Y) pictures of the pursued animal suffering not
only the physical distress of the chase but the mental anguish(5 %) of
anticipated death. o

The usual answer to these criticisms is that animals do not, suffer
in the same way, or to the same extent, as we do. Man was created
with a delicate nervous system and has never lost his acute sensitive-
ness to pain; animals, on the other hand, had less sensitive systems to
begin with and, in the course of millions of years, have developed a ca-
pacity for ignoring injuries and disorders which human beings would
find intolerable. For example, a dog will continue -to pley with a ball
even after a serious injury to his foot; he may be unable to run w?thout
linping y but he will go on trying long after a human child would have
had to stop because. of the pain. We are told, moreover, that even
when animals appesr to us to be suffering acutely, this is not so;. what
seem 1o us to be agonized contortions (Al caused by pain are igy fact
no.more than muscular contractions over which they have no control.

These argyments are unsatisfactory because something about
which we know a great deal is being compared with something we can
on_ly guess. We know what we feelj we ha\fe no means of knpwing

what animals feel. Some creatures with a less delicate nervous system
5
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